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Problem quickname: 6624

1
Insert the correct arithmetic operator symbols.

a)1-18+9=2 b)7+5+5=28 ¢)5-2-2=20
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d)19—3-5=4

e) 6+ 14414 = 34 )10+ 8+8 =11 g 7-2-10=4
h) 12 - 20 + 10 = 250 )1-15+5=3 H12—8=4=10

2)

Insert the correct arithmetic operator symbols.

a)4+19—10=13 b) 18 —8-2 =2 )17—5-3=2
)14—-6-2=2 e)15+11-19="7 f)12+4—6=10
g) 19+9—6=22 h) 19417 — 8 = 28 i) 11-18 + 8 = 206

) 9+12-15 =189
3)

Insert the correct arithmetic operator symbols.

a) 27-2+20 =74 b) 30 — 20 + 3 = 13 ¢) 27+ 4 + 27 = 58
d)9—2+6=13 0)8-3-17=7 f) 18 - 20 + 23 = 383
g T+14+7=9 h)19—8+4=17 i)4+23+6=33

)24+8+6=09
4)

Insert the correct arithmetic operator symbols.

a)1-3+8=11 b)347-8=59 )7-2+1=15
d)1+8-8=065 e)74+8-9="19 f)3.-3+2=11
g)5+6-6=41 h)9—3.-2=3 )9-3.2=3

Good Luck!
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) 8+5-4=28
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